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General instructions

1-All questions are compulsory

2-The paper consists of 30 questions divided into four sections A. B, C, D

3-Sectins A comprises of 6 questions of 1 marks.Section B comprises of 6 questions of 2 marks. Section C

comprises of 10 questions of 3 marks. Sectjon D comprises of 8 questions of 4 marks.

4.Use of calculator is not permitted |J

. SECTION-A
T Simpliﬁ- the given expression: (3+ 3)(2% )

2. Wrirte the equation 7x =3 in the Smndard form? .
3:The orte vl @ ARAC L6 B v vinth AG=AC = 4-0Hand LA=390. (Tre [False).
4. For a line whose equation is 2x +y =5, does point (2, 1) lie on it?

5. Find the Mode of the given data 1,1,2,2,2,2,4,4,4,4,4,3,3,3.3,1,1,2,2,2,3,3, 3.

6. Three angles of a quadrilateral are 60°, 110° and 86°. What is the measure of the fourth angle of the
quadrilateral

_ SECTION-B

7. Factorise: 7 V2x*-10x -4v2 |

8. What is the area of the triangle havirig sides of lengths 7 cm, 24 cm and 25 ¢m?

9. For waves u:f\ue. ot € %z Ja-oar| Qquaihw '2.1-1-&3-% og equol values o and Y For =)
10. Two supplementarv angles are in the ratiod ;5. Find the angles. sl
Find the measure of each angle

1. It is given that| £1=z4and 23 =£2. By which Euclid’s
axiom, it can be shown that if £2 = 44 then 21= £3.

12. Represent V3 on number line

 SECTION -C

I 3.5how that in a quadrilateral ABCD AB + BC +CD+DA>AC +BD..
14. Locate the points (5, 0), (0, 5), (2, 5), 15, 2), ( -3,5), (-3, -5) and (6, 1) in the Cartesian plane

15.1n a parallelogram PQRS. The Altitude correspondmg to sides PQ and PS are respectively. 7 cm and 8 em find
PS, if PQ=10 cm. ' :

I
16. If the bisector of an angle of a triangle b;sects the opposite side, prove that the triangle is isosceles.
17.Findab,ifa+b=+v11,3>+b’=5

18. In AABC, BE and CF are altitudes cin the sides
RHS congruency rule, prove that AB =AC

19. What is Euclid’s second axiom? Pseve. Mok Q_V@r\a Voo gp_a.-...g-;t hot ome and
20.. Find the height of a trapezium in which parallel sides are 25 cm 77 cm and non-
60 cm: Given the area of the trapezium as 1644 ¢cm?,

21 The perimeter of a right triangle is 30 cm. Ifits hypotenuse is

AC and AB. respectively. such that BE = CF. Using

°"1\~3 "'-ncl Pbm!—
parallel sides and 26 cm and
13 cm, then what are two sides?

22. . Draw the graph of the equation x - y = 4. From the graph, find the coordinates of the point when the graph

line meets the x-axis. ‘:ﬁ )
yg QU Y,
% A




SECTION -'DI:,

23.1f x+y+z=0, show that x> + y* + z* = 3xyz.

24. factorise: a’ + b”—2(ab — ac + bc).

25. The mean of 40 numbers was found to be 35. Later on it was detected that a number 56 was misread as 16.
Find the correct mean of the given numbers.

26. Find the mode for the following data using the relation ;: mode = (3 median — 2 mean)

H

Item (x) | Frequency (f)
16 1 '\ _
17 1
18 3
19 4
_J 20 1 \
21 2

27. Prove that the medians of an equilateral triangle are equal.
28. In the given figure, triangles PQC and PRC are such that QC = PR and P(Q = CR. Prove that

LPCQ=—¢CPR < 1 > 10

29.Find the area of ABCD
A 28m

9m T

B8 40 m

30. The polynomial p(x) = x*— 2x>+ 3x*—ax + 3a - 7 when diLided by (x + 1) leaves the remainder 19. Find the
value of a. Also find the remainder when p(x) is divided by \ (x+2}% |
|
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